N (107" erg cm™%787")

f) (107" erg cm™%7'87")

1, (1077 erg em™%7'87")

f, (1077 org cm™%~'87")

0.1

0.2

0.1

0

0.1

0.4

0.2

rm744 NLR 3204n 3204.07

WinHW 900 km/s 3194 3214 S/N 0.0204
T Tt
[me 471(468272) | | [T 7 regs pacr17e—18
Inad 415(40070) 0.0(1.7)E-18
vg —62(~2¢+158) | | fwhm /680(693£517)
Ihed —79(—204225) 214(236£731)

fop 427(—134528)

velocity (km/8) 2=0.723770

rm744 NLR 3870n 3869.85
WinHW 900 km/s 3858 3881

T
fms 240(31642) il
Inad 167(227+:33)
[ pvg 68(36+52)
Ined 58(49+21)
lop 87(75+27)

£88(1.54)E-18
~ fwhm 283(282+27) |
> 283(282425)

velocity (km/8) 2=0.723770

rm744 NLR 4342n 4341.68

WinHW 900 km/s 4329 4355 S/N 0.101

Fegs 0.2(1.8)E-18

0.2(1.8)E-14
fwhm 402(670+474)
> 229(234+663)

T
rms 331(457+73) | |
mad 281(387+70)

avg —105(~292150)
med —43(—51203)

velocity (km/8) z=0.723770

rm744 NLR 4960n 4960.30
inHW 900 km/s 4945 4975

=

S/N 11.9

T
Ims 208(236+24)
had 147(16414)

vg 22(22+19)
hed 51(51+7)
op 78(78+0)

“Fegs 2.10(17)E-17

2.08(17)E-17
fwhm 28B3(283:10)
> 283(283+10)

velocity (km/s) z=0.723770

BLR 11480 NLR 900 km/a BLR 11480 NLR 900 km/s BLR 11480 NLR 900 km/s

BLR 11480 NLR 900 km/a

N (1077 erg em~2s787")
0.1

N (1077 erg em~2s"87")

0.1

N (1077 erg em~2s"87")

1.5

N (1077 erg em™25"'8"")
0.5 1

rm744 NLR [NeV] 3346.82
S/N 0.229

WinHW 800 km/s 3337 3357

T

rma 296(458+72) [T [T
mad 217(389+69)
avg 62(312149)
med —19(284203)
top —77(31+489)

anlu 0.5().7)E-1

A LLLI
-500

velocity (km/a) 2=0.723770

AL

rm744 NLR 3969n 3968.58

WinHW 800 km/s 3857 3881 S/N 0.00417
T T
rms 0(455+73) | | “ ' Fcgs 0.0(1.6)E—1
mad 0(386+70) ) 0.0(1.6)E-1
avg —838(—182150)| | || |twhm 63(6512467)
med —804(—524209) ' > 89(232:644)

top —sa4(—1o7*4s:q |

velocity (km/s) 2z=0.723770

rm744 NLR 4364n 4364.44

WinHW 900 km/s 4351 4378 S/N 0.0546
y
rms 282(457:+74) T [ Fegs 0.2017)E-1f
mad 234(38770) 0.1(1.7)E-1p
avg 135(44+149) | | 60(676+47§
med 108(55£201) > [326(2344671)

—

top 133(66+485)

-500 0
velocity (km/s) z=0.723770

rm744 NLR [OI] 5008.24

WinHW 900 km/s 4993 5023 S/N 235
T T
Ims 156(182415) Fegs 7.9B(33)E—17
Inad 129(1397) 7.85(33)E-17

fwhm 324(323+9)

I bvg 25(32+10) i
ned 41(435) 2 > 324(323+9)
kop 94(93+4) ‘ii!

velocity (km/s) 2=0.723770

BLR 11490 NLR 900 km/s BLR 11480 NLR 900 km/s BLR 11480 NLR 900 km/s

BLR 11490 NLR 900 km/s

f\ (107" erg ecm™2%787")

f) (107" erg ecm™2%~'87")

f\ (107" erg cm™2%~'87")

f\ (1077 erg em™%7'8"7")

0.1

0.1

rm744 NLR 3427n 3426.84
WinHW 900 km/s 3417 3437

s 482(471478) |
d 377(397+74)

! —319(—174#14?,\ ||
—5p0(-2502214)

—67p(—AB8l42

S/N 0.0111

 154(581£474)
> 154(227+563)

-500
velocity (km/s) 2=0.723770

rm744 NLR 4074n 4073.63
WinHW 900 km/s 4061 4086
T
kms 338(44€:+71) | ]
Imad 249(37668)
lavg —59(—3+:139) | |
Ined —128(—69+180)

S/N 0.551

T
] s 1.18(1,86)E-18
\56)E—18
fwhm 381(677£438)
> 381(2724611)

| kop —1so(—1oz==44o)| | | i
| T (Tl
1l I
MU e N1 | A I
-500 [} 500

velocity (km/s) z=0.723770

rm744 NLR 4887n 4687.02

WinHW 900 km/s 4673 4701 S/N 0.00421
T T
ms 0(430£77) ] | [ Fogs |0.0(2.2)E-18
Inad 0(411275) 0.0(2.2)E-18

fwhm|69(705£567)
>'69(230£803)

vg —a£1(—39*171)| |
ned —B46(—48+243)
lop —B46(—94+£583) | |

NI A I R

velocity (km/s) z=0.723770

Ll

rm744 NLR 5201n 5200.53

WinHW 900 km/s 5185 5216 S/N —0.0470

T
rms 436(467+76)
mad 383(395+74)

avg 112(39+163)
med 4(27£221)
|| top —157(772539)

velocity (km/s) z=0.723770

BLR 11490 NLR 900 km/s

BLR 11480 NLR 900 km/=

BLR 11480 NLR 900 km/=

BLR 11490 NLR 900 km/s

N (107" erg em™2~271)

N (107" erg em™2~'871)

[}

N (107" erg em™2~1871)

N (1077 org em™%"18"7")

0.6

0.4

0.2

0.1

0.3

0.2

0.1

0.2

0.1

]

rm744 NLR [0 3728.48

WinHW 900 km/s 3717 3740 S/N 17.2
~ =
rma 186(21518) an}-' 2.86(16)E-1
mad 150(164£10) . 2.80(16)E-1

fwhm 411(40713]

avg 69(63x13)
> 411(407£13

med 75(73+6)
top 61(93+34)

velocity (km/s) z=0.723770

rm744 NLR 4103n 4102.89

WinHW 900 km/s 4091 4115 S/N 0.00866
T T
Ims 0(477£77) | | | I Fegs 0.0(1.7)E-18
Inad 0(408+74) 0.0(1.7)E-18

fwhm 69(706£545)

hvg —876(-24+165) | | Roazaa7az)
> 23

Ined —842(—20+234)

_tu:‘(—sussn | |
] 11 —l

-500 0 500
velocity (km/s) 2=0.723770
rm744 NLR 4863n 4862.68
WinHW 900 km/s 4848 4877 S/N 141
T T
I [rms 320(351+41) M regs ssamE=1a[]
mad 232(261+39) | 5.3(3/8)E-18
| favg 130(123450) I 67:96) |
med 85(99+31) > 29::28)
ltop 100(100+19) 1
|
. [[1]
-500 [} 500
velocity (km/s) z=0.723770
rm744 NLR 5721n 5721.11
WinHW 900 km/s 5704 5738 S/N 0.0231
T T
fms 435(456+72) ” | |cha 2 a
I fnad 386(386+71) 0,1(4.3)E-18(4
lvg 28(81147) I | o (605+461)
Ined —181(132215) 16(226+611)
top —317(239=mr_L|/\‘L |
|-
- - -
I |
I =FF 1 |
- 1
—500 [ 500

velocity (km/s) z=0.723770

BLR 11490 NLR 900 km/s

BLR 11490 NLR 900 km/s

BLR 11490 NLR 900 km/s

BLR 11430 NLR 900 km/s



